
Instructions KRX Glass Windshield

STEP ONE – Mount the bracket with threaded insert on the 
left side of the bent flange at the bottom of the windshield 
as seen in the picture.  Start the 10-24 x ½” bolts and nuts but don’t tighten. Leave the bracket loose to 
align the handle later. 

2 – Universal Billet Clamp 1.75”

2 – Bolt  1/4-20 × 2.5”

2 – Bolt  1/4-20 × 3/4”

2 – Locknut 1/4”

2 – Lock Washer

STEP TWO – Attach the handle to the plastic vent flap using the 10-24 x ½” bolts and lock nuts.  Adjust 
the bracket with insert to keep the handle parallel to allow for movement.  Tighten the loose bolts on 
the bracket and test to see if the vent opens and closes. Repeat process with other handle.

STEP THREE – Place the billet clamps on the frame in the approxi-
mate locations for the lower holes in the windshield. The flat edge 
of the clamp should be on top of the roll bar and pointed to the 
middle of the machine. Put the windshield in place and start the 
¼”-20 x ¾” bolts with a washer in the top two holes. The bolts go 
through the bracket on the frame.  Use washers on both sides and 
tighten bolts.  Using the 2.5” bolts put a lock washer and washer 
on each bolt before starting it through the clamp. Tighten all bolts.

PRO TIPS

When installing bolts use a small amount of blue thread locker, such as Loctite. This will keep the bolts from backing out during use. 

Tinted polycarbonate can scratch easily. It is recommended to wait until you finish your ride to clean the vent covers. Use mild 
cleaners such as windex with a new, unused, micro fiber cloth. Paper towels will scratch the polycarbonate. Do not apply pres-
sure during the cleaning process or you may scuff the polycarbonate 

Clamp Orientation

Install windshield wiper before first step if applicable. 
There is another instruction sheet for wiper installation.

8 – Bolt  10/24 × 1/2”

8 – Lock Nut  10/24

6 – Flat Washer 1/4”

1 – Handle Assembly Left

1 – Handle Assembly Right


